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5[ 7] MOFEEZ1 (F 2 » 7£)20.05
60 8] 3BT R ILGHE L (7 W 4)22.33
7051 9EMm ZeA 1 (R 12)25. 21
[6] BIE 2 31 (K B 515,
[748] ( -0.9 m)
10 65] 2132 % =1 (OF F)18.79
20 3] 293% 4k WESF1 (b A [)18.86
3[ 2] 20976 & M1 (& - fE 2 £)19.43
41 8] 165M& ) Mg =1 (8§ i) 20. 24
5[ 7] 243k i M1 GE & I%)22.35
[ 6] 245 B k1 (b )i ) iETREAE
[ 4] 249¢:7E S 51 (Il 1) R 35
[948) ( +0.8 m)
10 5] 203 /7 BEZ1 (R 111)18. 53
20 7] MTXREFERE 1 (5 B A5 E)19.10
30 2] 17T MR AL 1 (B 5)19. 58
A[ 6] 253K & FHEL (R L [)20.72
508 175 —¥1(H #2143
60 3] 213K/ &1 GE W5 2)23.04
[ 4] 25EL48 Meih1 (N f 1B
D AN
e 3
1 267FnH HE1 & W) 15.50 0.0
2 N7fkx Ak —BE1 (L M) 15.68 1.5
3 2390 i M1 (B A 4 H5)15.72 0.5
4 217 W & F1 (B #)16.56 -0.5
5 71+ H 1 (E &k A)16.66 +1.9
6 1555 M EA71 (Uh H)16.73 +0. 1
7 29171 fESE 1 (7 H)17.46 —1.5
8 1434k K1 ( e )17.63 -0.5
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2[ 1]
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4 6]
5[ 5]
6[ 2]
70 3]
[ 4]
(8%H]
1[ 8]
2[ 3]
3[ 6]
4[ 5]
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5[ 3]
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9 HEY=VI—-2 (& - 7 £)15.42
24147 ¢ B &2 (h JI)18. 74
b 2 RZ=HE 2 CK #)20.59
177f% &8 B2 (O %46)21.18
1038 Il A& &2 (7 ) 22.99
15 A2 @& 7 2)23.09
237 K6 M2 (b Fn HRSY
BNTFI L HZE2 (F W ) RIS

(248]
1[ 5]
2[ 8]
3[ 1]
4[ 2]
50 7]
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( +1.9 m)
77+ B #1(E & #%)16.66
301 B A1 (W 9 A H5)17.98
1874 ¥ 1 (18 H7)19. 22
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St e K1 CK #)19.90
25975 Wy AR 1 CR 1) 20. 21
10185 & &3 1 (& ) 22.16
24110 B k1 ( JID) R 35
( +0.3 m)
205 H  xE k1 (+ i $5)18.43
Ok i 1 G I&F) 19. 29
179k A &= 1 G ) 19. 44
147 FH#E1 @ A £)19.50
6740 £ F K1 (& - rE A ) 19.99
ME O =81 (E ) 20. 81
2517 & @1 ((F W F)20.96
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203 {5 2 Jr 2 (H (1) 16. 06
16197V)7) a8 88 2 (K 18)18.72
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3097 M B T 2 (i

) 20. 40
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[3%8] ( -0.5 m)

103] 4945 2 2 (Bf 1 % [M)18.40
2[ 1] 313 H H£ A2 (M W £)19.43
3[ 2] 165/ [ KFn2 (& ) 19. 97
AL 5] 19 BN 2 (T T)20.19
5[0 4] 2914 7 £ ft 2 (I H)21. 40

[ 8] 2131L A FEfif 2 (OF ) Ri5

[ 6] 4TER)INHRK 2 & H) Ri5

[ 7] 1B7TIE S &2 (& N Ri5
[6#8] (  +0.5 m)

10 5] 2054k # %2 (+ H M #)18.10
2[ 8] 239%=1p 4Ll 2 (H » 42 H)18.65
3L 4] 221/ )11 £ 2 (F #E +£)19.33
40 3] 243t A K2 G &7 W)19.73
5[0 2] 2710 7= # 2 (K #£)20. 25
60 7] 181#1 8 BHHE2(H FH H)20.27
70 1] 187N H K2 (8 i7)26. 03

[ 6] 517 & &2 (K ) Ri5
I N
[ SRy |

T 99HEY=zVI—2 (R £ & #)15.42 -0.5
2 203 EEfE 2 2 (Fh 111)16.06 -0.9
3 217TE B a2 (b m>17.18 -0.8
4 2054k M J2 (+ B 1 £)18.10 +0.5
5 49%; B F2 Bk 5 H)18.40 0.5
6 239 (A T2 (b 7 422 H)18.65 +0.5
7 1190 B Z2 (FH £ » [1)18.72 -0.8
7 1619707 Jat78 2 (K 1)18.72 -0.9
TF14E 100m REE(348)
[1#8] ( +0.3 m)

10 7] T5=kiRAEA 1 (& ) 13. 41
2[ 6] 101m iy M AE1 (= H)13. 97
3[ 8]1001AT H #k & 1 (1 KA ) 14. 62
AL 1110131 iy 2 78 1 (i %2 5~ [=) 14. 86
503] 9510 F Kk1 (Fd & K &) 14.94
6 411023775 4]~ 3£ 1 (88 WL K 1)@ ) 15. 38
7[ 5]10097% f& M #E 1 (H K)15.55
8[ 2] 2517 A&/ 1 (£ M F9)15.65
[3#8] (  -0.6 m)

107] 2432 H X441 G 7 #)13.27
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3[ 3] 115)IIH #MA&1 (B 4~ 2)15.66
40 6] 283t MEE1 (A 4F)15.69
5[ 1] 2IEWIZAD 1 (#f £ )I1)15.96
6[ 8]1017h VU — FE2 1 (3 & 4 +)16.00
70 4110199 & F vy 1 (B = £ A)16.07

[ 5] 85HRJR E3E1 (F 2 B)XRIG

(4%8] (  -0.8
101 21782 %
20 7] 11904 H
3[ 6] 253/ f&HE2 OK
4[ 8] 259 BJFIEXHE 2 (K
5[ 3] 75H Lk K2 (4
60 4] 21% & &2 (il
[ 5] 1850k H K2 (&
[ 2] TiHk B 32 ON
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2 (il
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8[ 1] 1BHFHHLOA L (B
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K
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&
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7)15. 63

B Riz

1 1) 13,71
) 14. 46
) 14.54
4k)15.09
{#i)15. 26
—)156.32
5:)16.79
) 15. 91

I
I

m o

3 o >t



[548)
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2[ 2]

3[ 3110033 i
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5[ 4]
6[ 1]
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2[ 6]
3[ 8]
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8[ 1]

[948]
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10 4]
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47 1]
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( -0.1 m)
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249K Bk IR AR 1 (1
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2291 0 EWE1 (R
61 ff = E 1 (O
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Bk A KF 1 (E
1470 B A1 (W
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S om
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F)14. 47
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#7)14. 69
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R)15.98
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HI) R 15
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1) 14.28
)15 17
) 15. 33
H0)15. 42
) 15.50
F#)15.84
45)16. 45

M) 13.79
—)14.18
R)14.31
F)15.56
f)15. 81
1) 15.96
45)16. 07
) Ri5

) 14. 62
#7)14.76
) 15.02
1) 15. 08
) 15.09
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) 15.17
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%) 15. 27
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6[ 4] 26375 ik
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A A1 (E
a1 (F
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FE A (k=
A% E 1 (80
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-
4

2
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- i) 14
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81
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4> O

e 3
1 18370 E#H1 (K 1) 13. 15 +0.
2 243 H E4m1 G 7 E)13.27 0.
3 15 =ERAEA T (P FH)13. 41 +0.
4 2958 H T 1 G N F)13.64 +1.
5 254 —H 1 (O8N A #1371 0.
6 181 M LFELI(H #FH H)13.76 +0.
6 2915 H5rd 1 ([ H)13.76 +1.
8 18714 ZFEmel (& B7)13.79 +0.9
TF2F 100m R 0240
[1#8] ( +2.5 m)
1041 2390 )11 AL 2 (B » 2 H)13.11
2[ 6] 243 3% ¥ H 2 CF & #)13.55
3[ 2] 157TEAKRHT 4 2 (& R)14.18
A0 7] 309(F ik H 432 (G )14, 24
5[ 3] 3FH W fibuz (i M) 14. 47
6[ 1] 89fRH ¥ 2 (H ¥ F4)15.04
70 5110012 37 2 A= 2 (tp KB4 ) 15. 73
[ 8] 193H#E < 542 (& H) R 5
[3%8) (  +1.4 m)
1041 15=» R EMK 2 (3 ) 13. 69
20 2] 1857 0 #H 2422 (% ) 14.10
3[ 8] 267:4 = E H 2 &% WE) 14. 33
AT 1] 145 Fu #& % 2 (I ) 14. 40
50 6] 18T+ = #Ffrk2 (& HT)14. 62
6[ 5] 143B8%F H F 2 ( s )14.78
70 3] 69K B +9722 (k ) 15.13
8[ 7110194 M £ Fh 2 (B #= # A)15. 41
[5%#8] ( +2.2 m)
102] 229%& W #2 (& £)13.33
2[ 6] 2714 M # &%k 2 (B #)14. 03
3L 81017 ARBB W2 (H B 4 1)14.24
41 5] 249 # #5 H 2 (I 1) 14. 65
5[ 4] 127T#H ik # F 2 (I iB)15.18
6[ 3] 25193 A2 (7 MW )15.38
70 111005740 7val-bh 2 (B8 B /X J#)15.73
[ 7] 315 i F w2 (K 1) Ri5
[7#8] (  +0.5 m)
1[0 6] 2034 ¥ &A= 2 (f 111)13. 78
2[ 5] 258N W IR2 OS f4  #%)13.95
3[ 3] 227TH 1l FE 2 (+ 4 = ¥)14.38
AL 7] 233 E w2 GE H )14.44
50 8] 291 (i #9852 (i Ht) 14. 50
6[ 21 BS5EHITARIE2 (I B +)14.82
[ 4] 221%m #®F2(F ¥E HRXB

D WN WWOo W
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10 3J103TEFEO D 2 (R A+

2[ 8]
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3[ 1]
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5[ 3]
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10 2]
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2[ 8]
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5[ 2]
[ 3]

[ 61102170 i
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3%‘@2 (F
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o1 1%
101 H 2
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%2 (I
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2 2 OR

&2 (G
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H;*EZ (B,
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B2 (A
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fi H)13. 86
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£ F)14.T71
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X B)RE

A #5)13.38
H %) 13.86
) 14. 40
%) 14. 61
F)14.94
J#)15.18
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15) Ri5
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H)14.72
B J&) 14. 96
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[9%8] (  +1.5 m) [1048] (  +1.9 m)

108] 2719k &b 2 (k- 4613, 41 105] 293kAF~FE2 (H F1 H)13.80
20 3] 83ZE A H L2 kM & —)13.76 2[ 2] 3114 & H g2 ( J )13.92
3L 2] 303A b 32 (k 14,13 3[ 8] 2471 1% Mg 2 (#F ) 13.99
47 7] 301/ Il #& R 2 (W 3 A B7)14.18 47 6] 151330 B2 @FE L H 21429
50 610334 1L & 2 (&8 3¢ EH B 14. 81 507] 91 H #22(CH %) 14. 66
6[ 5] 263/h18 A2 2 (B i]) 14. 94 6[ 4] 1699 ZBFIME2 (5 & R)14.98
10 4] 259/ % & 2 (K 1E)15. 54 10 3] 51/MIE< B2 (K J5)15. 44
[1148]) ( +1.8 m) [1248]) ( +2.3 m)
1[0 8] 183/h#k BEAL 2 (K ) 13. 65 103] 181&F H w2 (H &H +H)13.51
20 6] 1750 FEAM 2 O B 2% J5)13.82 2[ 5] 20985 K ¥ 2 (k- f% 25 1) 14.05
3L 2] 24535 K A& 2 (B )i #E)14.39 3L 8] 1TTHEH8 I A6 2 (B 4)14.07
41 5]1003F & K2 (B H 5 B7)14.58 40 6] 99F K EHFE2 (R = 7 H)14.14
503] 1612 A 1t 2 (K 1#H)14.72 5071 21=®wAA&)2 (®# L& JI)14.43
6L 7] NS JINEESE2 (B8 7 %)15.15 6[ 4] 165% JIl #E2 (5 i) 14. 95
10 4] 223k E &2 (B 7= \F £)15.99 102] 1788 K &= F2(E o )15.43
0 O
e
1 9 =B AHipA 2 (5F £)13.03 +1.9
2 1037 RO 2 Gr A & E)13.10 0.0
3 2394l A2 (B »» 2 H)13.11 +2.5
4 2297 H #H2 (& F)13.33 +2.2
5 283 REB0OED 2 A 46)13.38 0.5
6 2791k 2 (- #)13.41 +1.5
7 181 % H we(H & A)13.51 +2.3

243 M2 #EH 2 (G & Ik)13.55 +2.5

t?,\ @ 20 0m REE(1£H)
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2[ 6] 1571=% T H 2 (& iR)28. 83 2[ 2] 305 KM A& Z 2 (fH %)29.54
3[ 8] 69mhy HE2 (K ) 29. 64 3[ 1] 3HHBIET 2 (F ) 29. 89
A7 1] 3014 k=2 (W 3 A& #9)31.02 4 6]1019/h E#y 782 (BE &= £ A)29.95
5[ 211003 =+ Ei 2 2 (BY # 5= i) 33. 24 504] 311Kk &  #E2 (F WA 4)30.28
60 3] 227/ BHHE 1 (& 9 = #)36.06 6[ 3] 115 FEEEME2 (B8 4~ %)30.68
[ 7] 5/ ZE1 CGR ) Ri5 108] 971&H kK2 (CH %) 31. 50
[ 51101TIL A7 2 (8 B 4 7) &ig [ 7] 15540 5 4 1 (b H) &
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1[0 2] 2831hA F£Z=22 G (b H)27.84 1[ 1] 2658 &F X2 (& H)27.16
20 7] bR KAk 2 Gl 1) 29. 95 20 3] 251th(h mefE2 ((F M R9)29.39
3[8] 200kH FA2 G - H %)31.13 3[ 6] 24T S F 2 (B H1) 30. 06
41 6] 21711 I % 2 2 (1L ) 31. 24 AT 71 101 R Sk 2 (7 [1)31.13
5[ 4] 9tMEA 52 Gu b &H)31.61 50 4] 211 EH E 0 2 (Bk 1) 31. 22
60 3] 213t M A1 GE M5 J2)32.00 60 5] 2919 M fH & 1 () H)31.23
70 1] 299%2 7% 2 41 (F fix  H)32.49 2] MHAT #EEFE2 E #)33.91

[ 5] 2230 4F £ H 2 (B 7= F &) &8 [8] BSITANE< B2 U B &%,



[5%#2] ( +2.1 m)
106] 181 F &Z=2((H #FH H)27.31
2[ 7] 1394k » ABEFn 2 (JI k) 27. 91
3[ 2] 295 AT ZFEFj1 (R 2 [1)29.32
47 8] 23K W2 G H £)30.97
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2[ 8] 293A kMMM ZT2 (h F1 H)29.56
3[6] 1A EZ2(hH %)29.73
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